{ don’t wear glasses
now. | wear contact
lenses.

1"

. -
1 Stephanie _used to wear glasses .

We don‘t go skiing
now. We’re too old.

I don‘t play rugby
now. | hurt my knee
a few years ago.

York now. We live in

We don’t live in New
London.

I dont work in a
shop now. | work in
an office.

SENEWO

il and Mark

We don’t share
a bedroom now.
We've moved to a
bigger house.

RKSHEETS

2 EXXE3 Complete the dialogue with the correct
form of used to and the verbs in brackets.

Jonathan has won a lot of money in a competitior
and a reporter is interviewing him. She wants ic
know how different his life is now.

Jonathan

Reporter

Jonathan

Reporter

Jonathan

Reporter

Jonathan

Reporter
Jonathan

a lovely house now. Where ' did you
use to five? (live)

Oh—12 (live}
in a very small house. |
= - (not have) 2
garden. Now |'ve got a really big one!
And what sort of car*

(have)?
I® (not drive} 2
carl® (ride) a
bike! Now I've got a Ralls Royce and 2
sports car!
And where ?
{go) on holiday?
|® s (not go) on

holiday very often. 1°
(stay) at’home. Now | go 10 'z
of wonderful places.

And what {do
in your free time?
R (meet) my
friends. We 2 inct
do) much, but we =

{have) a good time.
So, is your life better now?

No, not really. |
(not have) a big house and expensive

cars, but 115 (have
a lot of good friends. So | think |
6 (be) happier

in my old life.



